Solution Problem set 2
Integration
1. Find the indefinite integral of:
a. x+1
b. —2x2

C. xe*
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2. Find the definite integral between 0 and 2 of:
a. 2x—2
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3. Which of these improper integrals exists?
a. J'oz xZdx

b. f e *dx |
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4. Use the substitution method to integrate the following
2 3x2
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5. Integrate by parts
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8. Given the demand function P = 42 - 5Q - Q2. Find the consumer surplus at the
equilibrium price of p = 6.

SHADED PREA ARBC

—”%Q

Fmol @ (The C[JULOAJ’(ATy dbmonot o (U ce \prC;D
Vou have To  oolve 6-u2-Sa-Q°
So-el/b'h[,wv\) iR 4 S|
The guod  oalam 5 e finst ome
. Q24

4
CS = jqz—sa-@f - 646

)

oo OQRBC - fuma OQ'BA

4
s Dl =
0

) %
= 42@-25Q-1Q

cq68- o - Sh oy 5 2L

3 3



7. Given Investment I(t) = 9t%5 find the level of capital stock in a) after 8 years b)
between years 5 and 8.
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